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E—LiEkIZEET ARE 2009/2/13

S2E ZA
Ak aff

SERREELL T, OV —R00cm+E550cm R E

FE—LATIE,. aV91)—k200cm+$550cm

"E—LBRENS. 0ELOEAMENTNEE

E—LIBKLIGART E—LiB%kE wE
(1) FE—LEUT 5 MeV, A3 ELT, 10 MeV.50 mA
100 mA BOTERADHRIIHKELTHE
hEFORELLERE
(2) FREEINUR E = 200 MeV
(AR, BFER) | =10 pA
(3) FREENUKR E = 200 MeV
(FEER) | =10 uA
(4) AR E =10 MeV PHEFORELGLERTE
(AR, BFER) | =10 uA
(9) RBEEAE—LST E =10 MeV hEFORELLERE
| =100 uA
(6) 2FIELFEE E = 200 MeV
=1 uA
(7) RYHLSA ikt E =5MeV hEFORELLERTE
| =10 uA
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cERLIGIR BEEDHERKER

<20 uSv/h

E—LBLIGMH E—LIB%E )= Elfi(cm) | a2 9U—KE(cm) | &E(cm) | #RE(cm) | $EZE(Sv/h)

1) | EE—LEFVT 5MeV | 100mA 0° AmM 427 200 101 0 1.64E-09
90° A 400 200 55 0 1.59E-07

FE—LF T (Opt.) 10MeV 50mA 0° AmM 427 200 101 0 5.04E-09

90° A 400 200 55 0 1.59E-07

(2) | AEEEIAF—1 200MeV 10pA 0° AmM 863 141 71 0 1.17E-05
90° A 863 141 71 0 5.43E-07

AEESEIRUF—2 200MeV 10pA 0° AmM 681 100 50 0 4.13E-03

90° A 650 100 50 0 1.08E-05

(3) | AEEEE6AUF—1 200MeV 10pA 0° AmM 863 141 71 0 1.12E-05
90° A 961 141 71 0 4.31E-07

AEEHEeAUF—2 200MeV 10pA 0° AM 1181 100 50 0 1.37E-03

90° A 650 100 50 0 1.08E-05

4) | ARE 10MeV 10pA 0° AmM 3830 100 50 0 4.94E-08
90° A 650 100 50 0 8.38E-09

(6) | ABAE—LAVT 10MeV | 100uA 0° AmM 3431 104 82 0 8.71E-10
90° A 796 104 77 0 1.59E-10

6 | 2RARLFEE 200MeV TuA 0° AmM 934 100 50 0 2.20E-04
90° A 397 100 50 0 2.89E-06

(M) | MYHLSM ik 5MeV 10pA 0° AmM 997 104 52 0 6.53E-08
90° A 645 104 52 0 2.25E-09
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BE&EEINICE—ILEZENMLI-5E

a291)—k00cm+§50cm = 291 —k50cm+£320cm (3FFRIC LY S%ZEmN)

RER | FHES Bt |av9)— |#%E  [8E REFR
(cm) | FE(cm) |[(cm) [(cm) (Sv/h)
FElEE | 0°AM 681 100 50 4.13E-03
EINY
~-2 0°7 M 681 100 50 35 1.84E-05
0°7 M 681 150 50 20 9.75E-06
0°7 M 681 200 0 40 1.94E-05
90°A M 650 100 50 1.08E-05
90°A M 650 150 20 20 5.73E-06
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FE—LATDaLH)—FEE150cmic

IR R Fiffim | BEEE(cm) O — [®KE | RE | BREFE
KE(cm) |(cm) |[(cm)|(Sv/h)
FE—LHY |0°HM 427 200 101 0| 1.64E-09
7
90°/A] 400 200 55 0| 1.59E-07
0°75 Al 427 150 101 0| 1.95E-08
90°/[A] 400 150 55 0| 2.49E-06

-5Mev 100mA D IEXHIZ 10Mev 50mA THEL
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FRVEDERRAI D' )—F50cm 1+ #20cmIZ(FD1)

RiR R Eifin | EEEfE(cm) (O H)— |[BKE | RE BREFE
KE(cm) |(cm) |[(cm)|(Sv/h)
EORUR1 | 0°HA 863 141 71 0| 1.12E-05
90°75 [A] 961 141 71 0| 4.31E-07
0°F [l 863 212 0| 20| 2.65E-05
90°75 [A] 961 212 0| 20| 1.71E-06
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FRVREDERRAI D' )—F50cm+ #20cmIZ(FD2)

RiR R Eifin | EEEfE(cm) (O H)— |[BKE | RE BREFE
KE(cm) |(cm) |[(cm)|(Sv/h)
EORUR-2 |0°HA 1181 100 50 0| 1.37E-03
90°75 [A] 650 100 50 0| 1.08E-05
0°F [l 1181 150 50| 20| 3.24E-06
90°75 [A] 650 150 20| 20| 5.73E-06

ZCEEIRVUEE
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EhEniERZD")—F150cm+ §35cmIZ

IR R Fiffim | BEEE(cm) O — [®KE | RE | BREFE
KE(cm) |(cm) |[(cm)|(Sv/h)
=8 0°A M 3830 100 50 0| 4.94E-08
90° A Ml 650 100 50 0| 8.38E-09
0°A M 3830 150 0 5| 3.82E-06
90° A Ml 650 150 0 5| 1.76E-06

- ZZIEEr5emif=l+
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IE—LXTEOERKREI2)—F50cm+§310cmic
RIR R i | EBEf(cm) [a HU— (KB | RE HBREXE
FE(cm) |(cm) |(cm)|(Sv/h)
HABAE— |0°AM 3431 104 82 0| 8.71E-10
LT
90°75 ] 796 104 77 0| 1.59E-10
0°F5 A 3431 156 0| 10| 1.58E-06
90°75 A 796 156 0| 10| 8.07E-07

- ZZIEFER10ecmi= 1T
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2RIELSFEEDEFKEEZI D) —F50cm+ #820cmiZ

RiR R Eifin | EEEfE(cm) (O H)— |[BKE | RE BREFE
KE(cm) |(cm) |[(cm)|(Sv/h)
2EIELFEE |0°HM 934 100 50 0| 2.20E-04
90°75 [A] 397 100 50 0| 2.89E-06
0°75 [A] 934 150 0| 20| 1.60E-05
90°75 [A] 397 150 0| 20| 6.13E-06

- ZZ[£r20cm
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RYHLSA @b D#ERkZET2')—k150cm+§35cm(Z
RIR R i | EBEf(cm) [a HU— (KB | RE HBREXE
KE(cm) |(cm) |[(cm)|(Sv/h)

WmMYHLSA |0°5AM 997 104 52 0| 6.53E-08

igh

90° /5] 645 104 52 0| 2.25E-09

0°F5 [l 997 156 0 5| 6.80E-06

90° /5[] 645 156 0 5| 6.44E-07

- Z I Er5cem
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o pede —_—TlL = =[] /= o
H M =JL=1= E_
s (X g A n-l_ L7

Jenkinsd =,
H(total) = H(neutron) + H(photon)
= H(GR)+H(MID)+H(HE) + H(brems)+H(second)

I

(GR): E XH IS4 F RS

(MID): R TR )L F—h % F R 53 (25<E<100MeV)
HHE): &)L ¥X—dtEF A5 (E>100MeV)
(
(

I

H(brems): 2—4 Y THEREL-KD
H(second): kAP ThEFICKYERSINF-Z RN FHS

0°AMMDEtE (LSakanoDKIZkB
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JenkinsM =

H(total) = H(neutron) + H( photon)

= H(GR)+ H(MID)+ H(HE) + H(brems) + H(second)
= JE (sin0/7r)*[Q,e """ |(1-0.72cos0)’

+Q,, e |(1-0.75c0s0)’

+3.79 x 1072 2P e %50 ]

+J 107" ¢ E (5in0/r)*[133e™ """ /(1-0.98 cosH)"*
+0.26¢7"% /(1 -0.72cos0)”]
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